™"

’!ru’*i—%

- - S B o BFOR
L T A ¥ 3 p A
Hixa g
& 3 p B A
§ ik gn G :
§ R
P 2 3 v §
L Orscg#z()  |OFxe#IQ)
Hi>p (79432 » ) » )
A O%- gz %= g
. (1% = €% (1% = Ag#&3%
S gt g [ p izt A B o ) . i
$3  L = 0 g HRE (%7 ¢33
(%= gz |O%- g3z
g /(ad, . :‘Cﬂ' gu#' ° s o o o
LEed OepOnd O0% ~ § 8% %4 3%
5 L X 5oL X
Tl R DM ﬁé‘an be gz
Os+-¢#z  |Drnég®k
INERAEY SN R I
#® T* 5
gEEREJ2F <} ~ O §ks o
- U HE Y £ ARR A 0 FEIRhE L0 R FPOE .
Y T ry s :mgp%z(mw CEFERE@40 4 B - §RE S0
AN HZ EHE 1504~ FZ EHE 04 0 Bz A§F§Q¢544‘a~m§;
£274 HT EHEIS0 4~ HA FREE0 L FREA N EEE
£504 ~ 54 §HF204 ~F L ERTS04 ~F L EET 654 2 HL




fur

(%]

CEHir 2B

CRr E iRl B TR SRR A

S EHRE 204 -
AR R MU RIFA S RAIE FAT H Y o

IR T AF Lg'4’ﬁ%§&¢ipkﬁﬁﬁﬁ§%%}ﬁﬁﬁﬁﬁ
Ao P b REFCR B%%@ﬂo

CE S & ﬁ%»g% B 5 PR e g\%¥3~mgﬁi’—¥
(50%50 2 A )3 37 5 %200 & B R S 4e S~ T §HRE - AdG £ 9
50x50 419)’¢$%;;*15002m .

\.gé‘i%“f?ﬁémwi@l’a‘?% Fipb oo ® Hiziesgy & o

?ﬁ%vk'% ﬁ,/}ilfﬁ‘?ﬁg KR P Efeid H
&’@%gaiﬂ@ﬁwwﬁ,%wpﬁ%#?%&%%ﬁﬁﬁﬁi’%é
TIRAR A F 4R Wﬁ%:}ﬁi&ii’“/‘ BB o TR AR BRER
ke -

S M TR (o B T4
CEVEL BT

i =
BRAXARPFRERY BT §FkT ~FFAER™ 2
& 7 5
LT PRk

> Xz
- fRE 500 + 36,000 = 18,000 =
2 ERE 150 # 16,000 = 8,000 ~
ZERE 30 4 3,000 ~ 1,500 =
FZAERE 54 ~ 3,000 =~ 1,500 ~
T eRE 27 A 4,000 =~ 2,000 ~
T EHkz 180 + 20,000 = 10,000 =
S ERE 80 * 8,000 < 4,000 =
¥ ERE 50 4 6,000 =~ 3,000 ~
~ERE 50 * 6,000 = 3,000 =
F1 §RE 20 4 3,000 = 1,500 =
T ERE 50 * 6,000 = 3,000 =
- g3 65 4 8,000 ~ 4,000 ~
M N 20 + 3,000 ~ 1,500 =




Bop 431y Bp iy 2,000 ~ 1,000 ~

CHETof B ERECNEL AR

2. @ W PEA A F=(08:00~12:00) 0 T =(13:30~17
30) » BLAF(18 1 00~21 : 00) » fw -] pErIp & 5 X3
VR

3. FrTgRE A HbES -

4. Hp Fa i iEd A i o

o
T':i‘




